WORKSHEET @
CHAPTER 8 - TRIGONOMETRIC RATIOS

1. If sin A = %, evaluate cos A cosec A + tan A sec A.
1 4 sin A ‘
anA 1+ cosA
3. Evaluate each of the following in the simplest form:
(i) cosec 30° + cot 45° (i) cos 30° cos 45° — sin 30° sin 45°
(#ii) tan 30° sec 45° + tan 60° sec 30°  (iv) sin 30° cos 45° + cos 30° sin 45°

2. If cosec A = 2, find the value of n

4. If 0 is an acute angle and sin 0 = cos 0, find the value of 2 tan® 6 + sin? 6 — 1.

5. ABC is a right triangle, right angled at C. If ZA = 30° and AB = 40 units, find the remaining two sides and
/B of AABC.

6. Iftan A = /3 , find other trigonometric ratios of ZA.
25

7. If sec © = = find all trigonometric ratios of 6.
_ 5 2cos6—-sin® 12

8. If sec 6 = 4,showthat ot0—_tan® _ 7

9. If sin o = %,showthat (3 cos o —4cos®a)=0

10. In right AABC, 2B =90°, AB =3 cm and AC = 6 cm. Find ZC and ZA.
11. Verify each of the following:

() sin 60° cos 30° — cos 60° sin 30° = sin 30° (i) cos 60° cos 30° + sin 60° sin 30° = cos 30°
(iii) 2 sin 30° cos 30° = sin 60° (iv) 2 sin 45° cos 45° = sin 90°
12. Taking 6 = 30°, verify each of the following:
(i) sin 20 = 2 sin 6 cos O (i) cos20=2cos?0-1=1-2sin20
(iii) sin 30 = 3 sin O — 4 sin® O (fv) cos 30 =4 cos® 0 — 3 cos O
2tan6
v) tan 20 = ———
®) 1-tan?0
13. Find the value of x in each of the following:
(i) tan 3x = sin 45° cos 45° + sin 30° (if) cos x = cos 60° cos 30° + sin 60° sin 30°

(iii) sin 2x = sin 60° cos 30° — cos 60° sin 30°
14. Solve each of the following equations when 0° < 6 < 90°.
() 2cos0=1  (if) 2cos2 0 = % (iii) 2 sin? 0 = % (iv) 3tan 01 =0

15. If A and B are acute angles such that tan A = 1 ,tan B = 1 and tan (A + B) =

2 3 1-tanA tanB’

16. If sin (A + B) =1 and cos (A - B) = §,0°<A+B,S90°,A>B,thenﬁndAandB.

Name: ... Teacher’s signature: ...

tan A + tanB find A + B.
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17. Show that:
(1) 2 (cos? 45° + tan? 60°) — 6 (sin? 45° — tan? 30°) = 6

(i) 2 (cos* 60° + sin* 30°) — (tan? 60° + cot? 45°) + 3 sec? 30°

18. Evaluate each of the following;:
(i) 2 cos? 60° + 3 sin? 45° — 3 sin? 30° + 2 cos? 90°

(i) (sin? 30° + 4 cot? 45°

— sec? 60°) (cosec? 45° sec? 30°)

(i) 4 + 1 — 2 cos? 45° — sin? 0°
2 2
cot” 30° sin” 30°
(iv) sin 30°  cot45°  sin60°  cos 30°
cos 45° sec 60° tan 45° sin 90°
19. Show that:

—sin 60° _ tan 60° -1

L1
@ cos 60°

" tan 60°+1

(ii) cos 30° + sin 60°

20. Show that:

(1) If tan © = 3

(ii) If cosec 6 = 2, then (cote +

1+ sin 30° + cos 60°

é,thensin6+cose= 4

= cos 30°

5
sin® )
1+ cos0

3-4sin’0 _ 3-tan’#

(iii) Tf sec 0 = % fhen

(iv) If tan 0 = %,then (

4cos’0-3 1-3tan0

asinO—bcost a® - b?
a® +b?

asin® + bcosd |
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5. /B = 60°, AC = 20+/3 units, BC = 20 units
6. sin A = ﬁ,cosA= l,tanA= \/g,cosecA= L,secA=2,cotA=

2 2 J3

24 _ 7 _ 24 _2 -2 -
7. sm6—25,cose—25,tan9— 7,Cosec9 24,secE) 7,cot@
10. ZC = 30° and ZA = 60°
13. (i) x = 15° (i) x =30° (iii) x = 15°
14. (i) 6 = 60° (i) 6 =60° (iii) 6 = 60° (iv) 6 =30°
15. 45°
16. A = 60° and B = 30°
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